
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 731

53 hm = 530000 cm

73 dam = 730000 mm

96 dam = 960000 mm

89 dam = 890000 mm

58 m = 5800 cm

48 m = 48000 mm

70 m = 70000 mm

17 hm = 1700000 mm

37 km = 3700000 cm

4 hm = 400000 mm

2700000 dm = 2700 hm

10000000 cm = 100 km

66000000 mm = 66 km

510000 dm = 5100 dam

68000000 dm = 6800 km

850000 cm = 850 dam

4200000 cm = 420 hm

3400000 mm = 34 hm

650000 cm = 650 dam

6100000 cm = 610 hm

7 km  et 64 cm = 700064 cm

94 hm  et 28 mm = 9400028 mm

70 dam  et 20 mm = 700020 mm

78 dam  et 29 mm = 780029 mm

88 km  et 69 cm = 8800069 cm

17 hm  et 92 cm = 170092 cm

71 dam  et 37 dm = 7137 dm

59 dam  et 91 mm = 590091 mm

72 hm  et 25 cm = 720025 cm

42 km  et 51 mm = 42000051 mm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :

https://www.toupty.com

https://www.toupty.com/

